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This video series from TREE focuses on assessment in the classroom. We look at problems and solutions for assessing
primary and secondary learners based on educational theory and practical methods teachers can try.

Classroom Problem

There is a student in my class who always
gets things wrong. | help him a lot, correct
her, point out his mistakes, and repeat the
instructions. He listens and tries the task,
but often makes a lot of mistakes. | think |
need to give him a lot of extra support and
explain again and again. How can | help
students who struggle and help them
understand their mistake?

A

ERROR CORRECTION
AND FEEDBACK

There are a variety of methods a
teacher can use for error correction
and verbal feedback.

Let's look at an example in action with two
students: Nay Lin and Thida. The teacher
gives them written instructions for a
drawing task. Here are the instructions.

v

Read and draw v

1.Draw a big square.
2.Put a red dot in the middle.
Y, 3.Colour the square blue.

4

Here's what they drew. Are they both correct?

Nay Lin

We can see that something is not correct with Nay Lin’s, but can Nay Lin see this?
When any learner makes a mistake, the teacher has some options in how to help them.

Let’s look at two options for correcting Nay Lin...
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Nay Lin, well done. But yours is hot quite right-

=
=

You heed a square, like thig, not a rectangle. And
youy dot ig not in the vight place. | said in the
middle. Put H here, look, Hhis is Hhe middle. 1’|\

show you. Now dyaw H again like mine.

o /

¢l
RF-F"E Think about what the teacher said and did.
¢ v

With this kind of feedback from the teacher, do you
think Nay Lin can understand his mistake?

OPTION 2

I Nayin, let's read Hhe instructions again |

[*l::rau.: a big square... g\
/_/[ Did you dvaw a square? ] ,
/ ‘ s Yes, teacher. &\
T[ frolw many sides does a square have?

FouyY, teacher. g\
Ny '
That's right! what's the difference betlween a
square and a vectangle? [h squave has equal sid.e:_:,-}>

A

"‘ﬁmes YouY shape have equa'. sidesg? ]

[mn, teacher. | can change H :Z,

&veat! make sure 4o read Hhe ingtyuchong cﬂfe.fv'u'lqt}

and. ' ida n ' Ini d.
check Wwith Th“l when you've finishe [D"‘-; ot /

“Ef\jrwhat did the teacher do differently in Option 2?
PR How did she help Nay Lin realise his mistake?
Is Option 2 better than Option 1? Why?

KEY TAKEAWAYS:

Try to elicit the Learners are Use questions to _help
corrections from individuals, therefore t:e_ Iearn;l;(;ela_gzz
your learner. learn at different rates. tth er: ::)lsself-c-orrect
B SluGUEIATEA LI r:ther than telling
e = onm - - - -
SPecific in your more thinking time them the correct
advice. than others.

answer.
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